The Slope-intercept Form

slope y-intercept

We need to know the slege and e y-intercept

m=|  b=-3
y=lx=73




The Slope-Intercept Form

Instead of V= II|I)( + Il' we have:

slope y-intercent

The Standard Form

Ax + By =0
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The Standard Form

Ax + By =0

1. Nofractions allowed.
2. xandyterms must he alone on the left side of the eguation.



exll Write the linear equation Yy = = z X -4 instandard form.

The Standard Form

Ax + By =G 7

I

1. Nofractions allowed.
2. xandy terms must he alone on the left side of the eguation.
3. xterm must he first and positive.
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_ Q\X — I;L <@ equation to move xandy

,2_ _ Multiply all terms by 3
2 X SR

Add 2x to both sides of

Make sure that you write the X
<= term first and that the coefficient
of xis a positive number.




ex2) Write the linear equation | =

2. xandyt

AX+BV B Yt%
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The Standard Form

A

L 4 Multply al terms by

10 to clear fractions.

0y = bx =5 <« rm—

-bx +(0y =-5H -

Make sure that you write the x
termfirst. To make the coefficient
of X a positive number, we'll need
to multiply all terms hy -1.

ox -0y =5




ex3) Write the equation of the line in standard form that passes
through the points (4, -2] and (8, -5].

@ch( slope. w = \l‘" Y' @) fFind Y-wtercept:
' \ MmXx + b

W G -0
g

()= (4)

M= -

-A=-3+)
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(3 Write enuation of the line. in shgt-intercagt-foem,

3 l The Slope-Intercept Form
Y = 7(‘ X t v=mx+h

@ Convect 4o stondadd form

The Standard Form - - i?( 1 |
m+By=¢ | 1 ¢
e e I AL

Ox+dy = 4




Point-Slope Form is the last form of an equation we will study.

If we clear fractions out of the slope formula, we get the point-siope
form of an equation. This form gives us another way to find the
equation of any line without having to find the y-intercent.

m =S e, Y Y,

xz x1 and clear fractions. X - X,

\

M(X_X): N-Yi

The P(lllll SInne Form

V-V, = m(x-x,)

where (X, y,) is any point on the line
and mis the slope.




To write the equation of a line in point-siope form, you

need 2 things:




ex4) Write the equation of the line in point-siope form that passes
through the point [E , lﬁl’] and has siope -3.

The Point-Slope Form

V-¥; = M(X-X,)




The Slope-Intercept Form ‘ The Standard Form

v=l}lx+l|1 Ax + By = C

slope y-intercept where A, B, and C are integers

The Point-Slope Form

¥-% = Ill_()(-)_(,)




ex5) Write the equation of the line in point-siope form that passes
through the points (-5, 10) and (5, 2) and then rewrite the
equation in slope-intercept form.

To use point-slope form, we need the slope and oy point on the line

® Find slnfe Wi = Va ; @CMsa omy ()omf on the lae

(3) (\o) o Tl chwose QS,?Q)
O ®
M= g

@ Wf I’(Q Qqumhon N ()o’m’r~ s\o()e (*\0( M The Point-Slope Form

VY x) | et

Y35 (x-9)

(@ Convect Yo shoge-iatecagh-fuem by olimgacy

The Slope-Intercept Form

v=mx+||| Y”az‘g(X‘S)

|
- \[‘g\:ﬁ%x +94

Y=’%x+b




ex6) Write the equation of the line graphed helow in standard form.
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) Find 6‘0()(’..

Choose 2 peetty gaints ond
Coont the 15¢. and (un beiween thew

(@) Write eguation 1 point-slope fota

The Point-Slope Form

V-¥, = m(x-x,)
where (x,, ¥, is any point on the line
and m is the slope.

@ Convect 4o standod oeen Y =0 = ~(x 1)

The Standard Form

Ax +By=0

1. Nofractions allowed.

3. Xterm must be first and positive.

W can do this problem | of L weys,
@m&%od \ Ust Slo(ww:&emr

Q) Method A* vse poiat-slope
"
Since the y-kerceet is o ftaction

ad wWould be anasying +o Pind' T
will use method 2, point-slope.

@) Choost any pomt o Hhe line

1\ choose (/\Q)

Y0 -5k

Ty:=-3x >

Xty =3




